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BT 4 & i#h BT 4 HRYE - ERES

JLOCHT 10 7 FH oemy 9% 8 & HEFn614:2 H 1 H
FLoCHT 10 8% FLSEHT 19%7% MEFI6142 41 H
Ieoemy 11 0%FH JLSEHT 19%39% MEFn6142 41 H
Foemy 11 6%FH FLoEHT 20%5%5 MEFn6142 41 H
Ioemy 11 7%H JLSEHT 20%6 5 MEFI6142 41 H
Ioemy 12 0%FKH JLSEHT 20% 75 MEFn6142 41 H
Feoemy 12 1% FLoEHT 20%8 %5 MEFn6142 41 H
Ieoemy 12 4% JLSEHT 20%10%5 MEFn6142 41 H
Foemy 12 6 %&iHh FLoEHT 20%1 2% EFn6142 41 H
Ioemy 1 3 3% JLSEHT 20%9%5 MEFn6142 41 H
Foemy 1 3 6 & JLSEHT 19%10% MEFn6142 41 H
Feoemy 1 3 6 & FLSEHT 19%10% MEFI6142 41 H
Ioemy 13 6FH JLSEHT 19%32% MEFI6142 41 H
Feoemy 14 0FHh FLoEHT 19%15% MEFI6142 41 H
Foemy 14 8FHh JLSEHT 19%28% MEFn6142 41 H
ILoemy 15 0FKH JLSEHT 21%1%5 MEFi6142 41 H
Foemy 15 7 FH JLSEHT 21%&%14% MEFI6142 41 H
Foemy 16 0&H JLSEHT 21%20% MEFn6142 41 H
Foemy 17 9FH FLoEHT 21%45%5 MEFn6142 41 H
Ieoemy 18 4%FH JLSEHT 22%8 %5 MEFi6142 41 H
Ioemy 19 1FH JLSEHT 22%20%5 MEFn614£2 41 H
JL ST 19 1%FH el i22% 225 AEfn614£2H1H




